chapter 6:
Numerical differentiation
some functions its very hard to find the derivatives
objebraicity, therefore we approximate the derivatives
to solve ODE KIM PDE.
Their Centered difference formula of order O.(h^{*})
Assume that
$$f \in C^2 \Box_{0}[\Box]$$
 and that such, \underline{m}_{i} such
one is $\Box_{0}[\Box]$, then:
 $f(\underline{m}) \approx f(\underline{m}h) - f(\underline{m}h)$ is and step size
 $\underline{-2h}$
Furthermon: there exists a number $C \cdot Chi(\Xi_{0}h)$
such that: $f(\underline{m}) = \frac{f(\underline{m}h) - f(\underline{m}h)}{2h} + \frac{E}{4\pi m} (f_{i}h)$.
Under: $E_{Trun}(f_{i}h) = -\frac{h^{2}}{6} \frac{f(S)}{6} = O(h^{2})$
 $\underline{E}_{Trun}(f_{i}h)$ is called the true contine error.
Note: The order of the formule is the power of h
is the error term. that pints different from ∞ .
(127)

$$\frac{provf.}{f(n)} = scare with scand degree Trylor expansion
f(n) = F_2(n) + E_1(n) = boart m.
Hen
$$\frac{f(n+h) = f(n) + h f(n) + \frac{h^2}{2!} f(n) + \frac{h^2}{3!} f(c_1) = \frac{f(n-h)}{2!} = f(n) - h f(n) + \frac{h^2}{2!} f(c_1) + \frac{h^2}{3!} f(c_2)$$

$$\frac{f(n+h) - f(n-h) = 2h f(n) + \frac{h^2}{3!} (f(c_1) + f(c_1))$$

$$c_1 \in Ln, n+h^2, c_2 \in [n+h, \infty].$$
Using Intermediate value that: (since $f(e_1)$) is continued)
then exister $c \in (c_1, c_2)$ such that

$$\frac{f^{(n)}(c) = \frac{f(n+h) - f(n-h)}{2!} - \frac{h^2}{3!} - 2f(c)$$

$$\frac{f'(n)}{3!} = \frac{f(n+h) - f(n-h)}{3!} - \frac{h^2}{3!} - 2f(c)$$

$$\frac{f'(n)}{2!} = \frac{f(n+h) - f(n-h)}{3!} - \frac{h^2}{3!} - \frac{f(n)}{2!}$$
(12)$$

Uploaded By: anonymous

-

$$\frac{\text{EXample:}}{y} = \frac{x}{2} = \frac{3}{2} = \frac{4}{2} = \frac{5}{4} = \frac{5}{4}$$
find $f'(u)$ with $h=1$, $h=2$?
Note, with centered difference formula, we call
find $f'(z) = \frac{f(z)-f(z)}{z} = \frac{-2-2}{z} = -2$.
If $h=1 \Rightarrow f'(u) = \frac{f(z)-f(z)}{z} = \frac{-2-2}{z} = -2$.
If $h=2 \Rightarrow f'(u) = \frac{f(z)-f(z)}{z} = \frac{u+1}{u} = \frac{z}{u}$.

Note: Suppose that
$$f'(s)$$
 does not change too
napidly , then the truncation error goes to Zero
in the steme maner as h^2 .
When computer Calculations are used, it's not
desirable to choose h too small, there fore we go
to use a formula with truncation error $o(h^4)$.

(129

STUDENTS-HUB.com

$$\frac{Example: Use Newton polynomial to drive cartered
difference formule of $O(h^{n})$.
 $5n1:$ Lie $n-h$, $n, n+l \in Ea, b$]. 14a
 $P_{2}(n) = a_{1} + a_{1}(n-na) + a_{2}(n-na)(n-n_{1})$
 $P_{2}'(n) = a_{1} + a_{2}[(n-na) + (n-na)(n-n_{1})]$
Now: $a_{1} = f[n_{0}, n_{1}]; \frac{f(n_{1}) - f(n_{2})}{n_{1} - n_{0}}$
 $a_{1} = \frac{f(n) - f(n-h)}{h}$
 $a_{2} = \frac{f(n_{2}) - f(n-h)}{h}$
 $= f(n+h) - 2f(n) + f(n-h) - \frac{f(n) - f(n-h)}{n+h}$
 $= f(n+h) - 2f(n) + f(n-h) - \frac{f(n) - f(n-h)}{n+h}$
 $= f(n+h) - 2f(n) + f(n-h) - \frac{f(n) - f(n-h)}{n+h}$
 $= f(n+h) - 2f(n) + f(n-h) - \frac{f(n+h) - 2f(n) + f(n-h)}{n+h}$
 $= f(n+h) - \frac{f(n-h) + f(n+h) - 2f(n) + f(n-h)}{n+h}$
 $= f(n+h) - \frac{f(n-h) - f(n-h)}{h}$
 $= f(n+h) - \frac{f(n-h) - f(n-h)}{h}$$$

$$\frac{1}{12m}: \quad Construct formula f order o(L^{u}).$$
Assume that $f \in C^{5}[a,b]$ and $n-2h$, $n-h$, $n, n, n+h$, $n+2h$
are all $h = [a,h]$, then:
 $f(u) \approx -f(u+2h) + 8f(u+h) - 8f(u-h) + f(u-2h)$
 $12h.$

Further more, $\exists c \in [a,b] = neh + neh:$
 $f(u) = -f(u+2h) + 8f(u+h) - 8f(u-h) + f(u-2h) + [f(f_{1},h) + 12h]$
 $12h.$
 $1(u+h) = f(u) + hf(u) + \frac{1}{2!}f(u) = 0(h^{u}).$
 $f(u+h) = f(u) + hf(u) + \frac{1}{2!}f(u) + \frac{1}{2!}f(u$

Compute:
8 (
$$f(n+k) = f(n-k)$$
) - ($f(n+2k) = f(n-2k)$) we have
- $f(n+2k) + 8 f(n+k) = 8f(n-k) + f(n-2k) =$
= $12hf(n) + \frac{h^{\Gamma}}{5!} (16 f(c_{h}) - 64 f(c_{h})) ...0$
Now, suppore that $f^{(r)}(n)$ has one sign and Its
magnitude does not change rapidly, we can find
 $C \in [n-2k, n+k]$ such that: $(i-e) f(c_{h}) \approx f(c_{h})$
 $16 f^{(r)}(c_{h}) = -48 f(c) ...0$
substitute $(0, n) = 8 f(n-k) + f(n-2k) =$
= $12 h f'(n) + \frac{h^{\Gamma}}{5!} \cdot (-48 f(c))$.

$$= \hat{f}(x) = -\frac{f(n+2h)+8f(n+h)-8f(n-h)+f(n-2h)}{12h} + \frac{h'}{30}f(c)$$

(131

Uploaded By: anonymous

STUDENTS-HUB.com

$$\frac{E_{\text{Xample}}}{y} = \frac{2(0.1 \ 0.2 \ 0.3 \ 0.4 \ 0.5}{y \ 13.25 \ 18.53 \ 21.25 \ 24.30 \ 27.12}$$
We can find only $f(0.2)$, with $h = 0.1$

$$f(0.3) \cong -f(0.5) + 8f(0.4) - 8f(0.2) + f(0.1)$$

$$12(0.1).$$

$$\frac{Example:}{f(0,8)^{2}} = \frac{f(0,8)}{f(0,8)} = \frac{f(0,8)}{f(0,8)} = \frac{f(0,8)}{f(0,8)} + \frac{f(0,8)}{f(0,8)} + \frac{f(0,8)}{f(0,8)} = \frac{f(0,8)}{f(0,8)} + \frac{f(0,8)}{f(0,8)} = \frac{f(0,8)}{f(0,8)}$$

Uploaded By: anonymous

(132

Error Analysis and optimum scep size (h):
We need to simply the effect of the computer's cound-
off error.
Assum computer is used to make numerical computations
Let
$$f(x_{n-h}) = y_{1} + e_{1}$$

 $f(x_{n+h}) = y_{1} + e_{1}$
where $y_{1-y_{-1}}$ are pumerical values
 $e_{1-e_{1}} = e_{1-e_{1}}$
there $y_{1-y_{-1}} = e_{1-e_{1}}$
 $f(x_{n+h}) = y_{n} + e_{1}$
where $y_{1-y_{-1}} = e_{1-e_{1}}$ are provided round-off errors.
There we have the following results:
Gercollary: Assume that f substitues the hypothesis that
 $f(x_{0}) \approx \frac{y_{1} - \frac{y_{1}}{2h}}{2h}$, then the error h malysis
 $f(x_{0}) \approx \frac{y_{1} - \frac{y_{1}}{2h}}{2h}$, then the error h malysis
 $f(x_{0}) = \frac{y_{1} - y_{1}}{2h} + E_{exe}(f_{1h})$
where $E_{exe}(f_{1h}) = E_{round}(f_{1h}) + E_{rrun}(f_{1h})$
 $= \frac{e_{1} - e_{1}}{2h} + -\frac{h^{2}}{6}f(c)$.
(133)

Corollary: Assume that
$$f \in C^{3}[a, b]$$
,
 $x - h$, n , $n + h \in [a, b]$ and that $|e_{-1}|, |e_{1}|$ both
are Less or equal \in , and $M = \max \{ | f^{(3)}(n) \}$
then $|E_{tot}(f, h)| \leq \frac{e}{h} + \frac{M h^{2}}{6} \qquad --- (+)$

and the value of h that minimize (t) is given by

$$h = \left(\frac{3E}{M}\right)^{\frac{1}{3}}$$

proof: Just substitute to get
$$(x)$$
, and to find
the optimum h:
 $E' \leq \frac{-E}{h^2} + \frac{2hM}{6}$.

$$= \frac{1}{2} + \frac{1}{2} + \frac{1}{2} + \frac{1}{2} = 0$$

Solving for h, we get:

$$h = \left(\frac{3E}{M}\right)^{\frac{1}{3}}$$

Uploaded By: anonymous

(134

STUDENTS-HUB.com

Corollory: Assume
$$f$$
 satisfies the hypotheses that
 $f \in C^{S}[a,b] = x - 2h, n - h, n, n + h, n + 2h \in Ea, L]$
Use computational formula:
 $f'(n) \approx -y_{2} + 8y_{1} - 8y_{-1} + y_{-2}$
 $12h$.

and the error:

$$f(x_{1}) = \frac{-4_{2} + 84_{1} - 84_{-1} + 4_{-2}}{12 h} + E_{tot}(f_{1}h)$$

$$\frac{12 h}{12 h}$$
when $E_{tot}(f_{1}h) = E_{round}(f_{1}h) + E_{trun}(f_{1}h)$

$$E_{tot}(f_{1}h) = \frac{-e_{2} + 8e_{1} - 8e_{-1} + e_{-2}}{12 h} + \frac{h^{4}}{30} f^{(5)}(c)$$

$$\frac{12 h}{12 h} = \frac{1}{30} + \frac{1}{30}$$

Corollery: If
$$|e_{k}| \leq \varepsilon$$
, $k \in \{-1, -2, 1, 2\}$
and $M = \max x |f(x)|$, then:
 $a \leq x \leq b$
 $|E_{coe}(f,h)| \leq \frac{3\varepsilon}{2h} + \frac{Mh'}{30} - ...(xx)$
and the value of h that minimize $(x \times x)$ is given by:
 $h = \left(\frac{45\varepsilon}{4M}\right)^{\frac{1}{5}}$.

Uploaded By: anonymous

(135

Notes:
If we have only one point, then.

$$f(n+h) = f(n) + h f'(n) + \frac{h^2}{2!} f'(c)$$

 $h f'(n) = \frac{f(n+h) - f(n)}{h} - \frac{h}{2!} f'(c)$.
there fore the order of the formula is A
(i.e) $O(h)$.
therefore, we conclude that the order of formula depends
on the number of given points different from x .
50, if we have 2 points rather than x , we have

143/3

(136

$$\frac{f^2}{f(n)} = \frac{f_1 - 2f_0 + f_1}{h^2} + o(h^0)$$

$$\frac{f'(n)}{h} = \frac{f_1 - 2f_0 + f_1}{h^2} + o(h^0)$$

$$\frac{f'(n)}{h} = \frac{f_1 - 2f_0 + f_1}{h^2} + o(h^0)$$

$$\frac{f'(n)}{h} = \frac{f_1(n)}{h} + \frac{f'(n)}{h} + \frac{h^2}{2!} \frac{f'(n)}{h} + \frac{h^2}{3!} \frac{f'(n)}{h} + \frac{h^n}{4!} \frac{f'(q)}{h} + \frac{f'(q)}{4!} + \frac{f'($$

Error Analysis:

$$f(x) = \frac{q}{1 - 24} + \frac{q}{12}$$
Lee $\frac{q}{16} = \frac{q}{16} + \frac{q}{16}$, where e_{16} is the error in Compling
 $f(n_{16})$ Including noise and round-offerror.
Here $\frac{q}{16}(n) = \frac{q}{1 - 2q} + \frac{q}{12} + \frac{q}{12}(n)$
where $E(\frac{q}{16}) = \frac{q}{1 - 2c} + \frac{q}{12}(n) = \frac{12}{12} \frac{q}{12}(n)$
Cerrollary: Assume $\frac{1}{12} \frac{q}{12}(n) \leq M$ and $1e_{16} \leq C$, the
then $1 \frac{E}{16}(\frac{q}{16}) \leq \frac{q}{16} + \frac{M}{12} - (\pi + \frac{q}{16})$
and the value of h that minimize ($\pi + \frac{q}{16}$)
 $\left(\frac{optimum}{h} \frac{h}{12} \right)$, where h is the step size.
 $-\frac{-\frac{8}{h^2}}{h^2} + \frac{Mh}{6} = 0 \iff h = \left(\frac{q}{18} \frac{e}{12}\right)^{\frac{1}{q}}$
Noter: (1) power of h is the order of the formula.
(2) number of points determine the order $(\frac{1}{2} \times 2)$.
(3) we stop at $\frac{1}{4} - \frac{1}{(c)}$, where
 $n + \frac{1}{4}$ points. (without π) for $\frac{1}{4}(n)$.

$$\frac{\text{Example:}}{f(0,8)} = \frac{f(0,8) - 2f(0,8) + f(0,79)}{f(0,8)} \approx \frac{f(0,81) - 2f(0,8) + f(0,79)}{(0,8)} \approx -0.69669000.$$

while $f(0,8) = -\cos(0,8) = -0.696706709$
Then the error in the approximation $v^{5} - 0.000016709$
To find the optimal step size:
 $M = \max \{|f(x)| = 1$
 $v \leq x \leq b$
 $V \leq E = 0.5 \times 10^{-9}$, then the optimal step size is
 $h = \left(\frac{48.(0.5 \times 10^{-9})}{1}\right)^{\frac{1}{2}} \approx 0.01244666.$

there fore our choice h=0.01 was close to the optimal step size.

Note: Like in
$$f(n)$$
, we will get more accuracy in $f(n)$
Using a formula with order Y (o(h4)).

(139

STUDENTS-HUB.com

Centered Formula of order H:

$$f(x) = -f_2 + 16f_1 - 30f_0 + 16f_1 - f_{-2} + E(f_1h)$$

 $12h^2$

When $|E(f,h)| = \frac{16E}{3h^2} + \frac{h^4}{f(c)}$ CE[x-2h, n+2h]90 Assumine M 6

Value for h is given by:

$$h = \left(\frac{240 \varepsilon}{M}\right)^{\frac{1}{6}}$$

$$Example: \quad \text{Let } f(n) = (os n , find f(0.8), h = 0.1)$$

$$f'(0,8) = -f(1) + 16f(0.9) - 30f(0,8) + 16f(0.7) - f(0.6)$$

$$0.12$$

≈ - 0.696705958

(140

STUDENTS-HUB.com

Back ward and forward difference formulas
$$f$$
 order h^2 .
Forward: Find the optimum h
 $f'(n_0) \cong -3 f_0 + 4f_1 - f_2 \longrightarrow O(h^2)$ (two points)
 $\frac{Back ward:}{f'(n_0) \cong} 3 f_0 - 4f_{-1} + f_{-2} \longrightarrow O(h^2)$ (two points)
 $\frac{Back ward:}{f'(n_0) \cong} 3 f_0 - 4f_{-1} + f_{-2} \longrightarrow O(h^2)$ (two points)
 $\frac{21}{2}$

$$\frac{proof}{f(n-h)} = f(n) - hf(n) + \frac{h^2}{2!}f(n) - \frac{h^3}{3!}f(n)$$

$$f(n-h) = f(n) - hf(n) + \frac{h^2}{2!}f(n) - \frac{h^3}{3!}f(n)$$

$$f(n-h) = f(n) - 2hf(n) + \frac{hh^2}{2!}f(n) - \frac{gh^3}{3!}f(n)$$

$$\Rightarrow - 4f_{-1} + f_{-2} = -3f_{0} + 2hf(n) - \frac{gh^3}{3!}f(n)$$

$$solve if for f(n), or get.$$

$$f(n) = \frac{3f_{0} - 4f_{-1} + f_{-2}}{2h} + \frac{h^2}{3!}f(n)$$

$$\frac{f(n)}{2h}$$

$$\frac{f(n)}{2h}$$

$$\frac{f(n)}{2h} = \frac{3f_{0} - 4f_{-1} + f_{-2}}{2h}$$

$$\frac{h^2}{3!}f(n)$$

$$\frac{f(n)}{2h} = \frac{3f_{0} - 4f_{-1} + f_{-2}}{2h}$$

$$\frac{f(n)}{3!}f(n)$$

$$\frac{f(n)}{3!} = \frac{1}{3!}f(n)$$

$$\frac{f(n)}{2!} = \frac{1}{2!}f(n) + \frac{h^2}{2!}f(n)$$

$$\frac{f(n)}{3!} = \frac{1}{3!}f(n)$$

$$P_{2}(n) = \frac{f_{0}}{(-h)(-2h)} (x-n_{1})(x-n_{2}) + \frac{f_{1}}{h(-h)} (x-n_{0})(x-n_{1}) + \frac{f_{2}}{(2h)(h)} (x-n_{1})$$

$$P_{2}'(n) = \frac{f_{0}}{2h^{2}} \left[(n-n_{1})+(n-n_{2}) \right] + \frac{f_{1}}{-h^{2}} \left[(n-n_{0})+(n-n_{2}) \right] \\ + \frac{f_{2}}{2h^{2}} \left[(n-n_{0})+(n-n_{1}) \right] \\ P_{2}'(n_{0}) = \frac{f_{0}}{2h^{2}} \left[(-h_{1})+(-2h) \right] + \frac{f_{1}}{-h^{2}} \left[-2h \right] + \frac{f_{2}}{2h^{2}} \left[-h \right] \\ = \frac{f_{0}}{2h^{2}} \left[(-3h) + (-2h) \right] + \frac{2f_{1}}{h^{2}} - \frac{f_{2}}{2h^{2}} \left[-h \right] \\ = \frac{f_{0}}{2h^{2}} \left[-3h \right] + \frac{2f_{1}}{h^{2}} - \frac{f_{2}}{2h} \\ = \frac{-3f_{0} + 4f_{1} - f_{2}}{2h} \\ = \frac{-3f_{0} + 4f_{1} - f_{2}}{2h} \\ + \frac{(142)}{2h}$$

Example: Use Newton polynomial to derive back word
formule
$$\frac{1}{4}$$
 order $O(h^2)$
 $f'(x_0) = 3f_0 - 4f_{-1} + f_{-2}$
Let $m - 2h = k_0$, $m - h = k_1$, $m = k_2$
 $\frac{1}{2h}$
Let $m - 2h = k_0$, $m - h = k_1$, $m = k_2$
 $\frac{1}{2}(h) = 0 + 0(k - k_0) + 0(k - k_1)$
 $P_1'(h) = 0 + 0(k - k_0) + 0(k - k_1)$
 $P_2'(m) = 0 + 0(k - k_0) + 0(k - k_1)$
 $P_2'(m) = 0 + 0(k - k_0) + 0(k - k_1)$
 $P_2'(m) = 0(k + 0(k - k_0) + 0(k - k_1)) + (m - (m - k_0))$
 $= 0(k + 0(k - k_0) + (k - k_1)) + (m - (m - k_0))$
 $= 0(k + 0(k - k_0) + (k - k_1))$
 $0(k - \frac{1}{2}(k - \frac{1}{2}) + 0(k - \frac{1}{2}) + 0(k - \frac{1}{2})$
 $P_2'(m) = \frac{1}{2}(k - \frac{1}{2}) + \frac{1}{2}(k - \frac{1}{2}) + \frac{1}{2}(k - \frac{1}{2}) = \frac{1}{2}(k - \frac{1}{2})$
 $P_2'(m) = \frac{1}{2}(k - \frac{1}{2}) + 0(k - \frac{1}{2}) = \frac{1}{2}(k - \frac{1}{2})$
 $P_2'(m) = \frac{1}{2}(k - \frac{1}{2}) + 0(k - \frac{1}{2}) = \frac{1}{2}(k - \frac{1}{2})$
 $P_2'(m) = \frac{1}{2}(k - \frac{1}{2}) + 0(k - \frac{1}{2}) = \frac{1}{2}(k - \frac{1}{2})$
 $P_2'(m) = \frac{1}{2}(k - \frac{1}{2}) + 0(k - \frac{1}{2}) = \frac{1}{2}(k - \frac{1}{2})$
 $P_2'(m) = \frac{1}{2}(k - \frac{1}{2}) + 0(k - \frac{1}{2}) = \frac{1}{2}(k - \frac{1}{2})$
 $P_2'(m) = \frac{1}{2}(k - \frac{1}{2}) + 0(k - \frac{1}{2}) = \frac{1}{2}(k - \frac{1}{2})$

Note: If there is - loss in the give data or
the fortition are not equal, then ire go back
to chopter 4 (Lagange & Newton).
Moreover, we can use Newton and Lagrange methods
to prove the formulas.
Example: Use Newton polynomial to derive (forward formula
or der
$$o(h^2)$$
.
Sol: we need in me redret find $P_2(n)$, say
 m_1^2 or der $o(h^2)$.
Sol: we need in me redret $(u - v_1 + u + v_2 + u)$
 $P_2(n) = a_1 + a_2((u_2 - v_1) + (u_1 - u_1))$
 $P_2(n) = a_1 + a_2((u_2 - v_2) + (u_1 - u_1))$
where $a_1 = \frac{f_1 - f_0}{h}$, $a_2 = \frac{f_n - f_1 - f_1 - f_1}{2h}$
 $P_2(no) = \frac{f_1 - f_0}{h} + (\frac{f_2 - 2f_1 + f_0}{2h^2})[o - h]$
 $P_2(no) = \frac{f_1 - f_0}{h} + (\frac{f_2 - 2f_1 + f_0}{2h^2})[o - h]$
 $P_2(no) = -\frac{3f_0 + 4f_1 - f_2}{2h}$

$$f(0.8) \simeq 3 \cos(0.8) - 4 \cos(0.79) + \cos(0.78)$$

 $2(0.01)$

= - 0. 717 379827

STUDENTS-HUB.com

Uploaded By: anonymous

(143 (12)

$$\frac{s_{0}!}{2}(x) = a_{0} + a_{1}(x - n_{0}) + a_{2}(n - n_{0})(x - n_{1})$$

$$\frac{p_{2}'(n)}{2(n)} = a_{1} + a_{2}((x - n_{0}) + (x - n_{1}))$$

$$\frac{p_{0}(x - n_{0})}{2(n_{0} + 2h)} = a_{1} + a_{2}[2h + h] = a_{1} + 3h a_{2}$$

$$q_{1} = \frac{f_{1} - f_{0}}{n_{1} - n_{0}} = \frac{f_{1} - f_{0}}{h}$$

$$a_{2} = \frac{f_{3} - f_{1}}{n_{3} - n_{1}} - \frac{f_{1} - f_{0}}{n_{1} - n_{0}}$$

$$\frac{f_{3} - n_{1}}{n_{3} - n_{0}}$$

$$\left(\frac{+3-\mp1}{2h}-\frac{\pm1}{h}\right)/3h$$

=)
$$P_2(no+2h) = \frac{f_1 - f_0}{h} + \frac{3h\left[\frac{f_3 - f_1}{2h} - \frac{f_1 - f_0}{h}\right]}{3h}$$

= $\frac{f_1 - f_0}{h} + \frac{f_2 - f_1}{2h} - \frac{f_1 - f_0}{h}$

$$= -f_1 + f_3 - (143)^{2}$$